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*實證醫學的五個步驟  

1) Ask an answerable question﹝問可以回答的問題﹞ 

2) Search for the best evidences﹝搜尋最佳證據﹞ 

3) Critically appraise those evidences﹝嚴格的文獻評讀﹞ 

4) Apply to the patient﹝臨床應用﹞ 

5) Evaluate our performance﹝評估與稽核以上步驟﹞ 



*Critical Appraisal Tools 

* Critical Appraisal Skills Programme(CASP) --- from 

Oxford Centre for Triple Value Healthcare 
 

* Critical Appraisal Tools from CEBM(Centre for 

Evidence-Based Medicine) (University of Oxford) 
 

* Critical Appraisal Tools from Joanna Briggs Institute 
 

* Critical Appraisal Tools from Duke University 
 

* …… 

 









Critically appraisal 

Apply to patient 



*此研究是否問了一個清楚明確的問題 ? 

  是否文有對題 ? 
 

  看標題及摘要，以PICO (patient, intervention, 
comparison, outcome)的方式思考，或是找文章前言的
最後一兩段，會寫到這篇研究最主要的目的。 







*此研究是否適當的隨機分派病患？ 

  Randomization ?                                                      

Allocation concealment ?  
 

*找研究方法 (Methods)的部分，或以關鍵字搜尋
“random”，來看此研究隨機分派的方法是否有說明
並且適當。 
 

   

 



*Randomization 

*隨機分派。 
 

*讓組與組之間的基本特徵相近，目的是要控制可
能的影響因子 (confounding factor)。 
 

*Centralised computer randomisation is ideal 

and often used in multi-centred trials.   



*Allocation Concealment 

*分派隱匿。 

*分派受試者的過程中採取保密措施，無法得知下
一位受試者將會被分派到哪一組。 

*降低分派偏誤 (allocation bias)。 

 



*Examples of no allocation 

concealment  

*Holding translucent envelopes up to bright light 

to reveal upcoming assignment. 
 

*Opening unsealed assignment envelopes. 
 

*The whole randomization list is emailed to the 

study personnel in advance. 
 

*Asking a central randomization center for the 

next several assignments all at once. 

 









*是否所有的病患都有納入結果中去分析？ 

 Intention-To-Treat (ITT) or per-protocol (PP) analyses ? 

 How long is the follow-up ? 
 

*找 Methods 中的 Statistical Analysis 及 Results 的部分。 (在
PDF中用 intention-to-treat 關鍵字找) 

 



*Intention-to-treat(ITT) analysis 

*所謂的 intention-to-treat，應該具備以下條件: 

 

(1) 無論是否接受介入，都應該維持隨機分派後
的狀態 

(2) 應該評估所有受試者的預後 

(3) 所有接受隨機分派的受試者都應該納入分析 



*Per protocol (PP) analysis 

*所謂的 Per Protocol，依字面上的意思，就是按
照計劃書接受分派的治療 

 

*Per Protocol analysis 即是按照計劃書乖乖接受
治療的受試者才納入分析 











 

Total: 7020 

Placebo: 

2333 

Empagliflozin 

10mg: 2345 

Empagliflozin 

25mg: 2342 

Empagliflozin 10mg + 25mg: 

2345 + 2342 = 4687 







Per Protocol Analysis 



*Follow Up 

*How long is the follow-up ? 

 

*How complete is the follow-up ? 

 



*How long is the follow-up ? 

Study 要做多久才夠 ?  
 

*Infection control:  3 to 4 weeks 
 

*Diabetes control:  6 months 
 

*Risk of cardiovascular disease: 5-6 years ?  
 

*Risk of cancer:   > 10 years ? 
 

*“轉骨丹” 或 “當大人” 的療效:  ? 

 

 

 

 

 



*How complete is the follow-up ? 

*Drop out rate:  should be at least < 20%  (If few 

patients have the outcome of interest, then even 

small losses to follow-up can bias the results.)  
 

*The number and reason for loss to follow-up ?  
 

*Is the drop out rate in both groups (control and 

experiment) equal ? 

 

 

 





683/2333 = 29.3% 



555/2345 = 23.7% 542/2342 = 23.1% 







*病患、醫療照護者、分析數據人員是否都是「盲性
的」？ 
 

*看 Methods 的 study design 敘述，是否有使用適當的 

match placebo 或 sham therapy 來讓病患或醫療照護者
無法分辨。 

 



*Blinding 

*單盲 (Single - blinded) --- 病人(受試者) 不知道自己被
分派到的研究組別 

*雙盲 (Double - blinded) --- 病人與研究人員或醫師都不
知道病人的分派組別 

*三盲 (Triple-blinded) --- 病人、醫療照護者、分析數據
人員都不知道病人的分派組別 

*非盲 (Unblinded or Open label) --- 所有人都知道病人被
分派到的研究組別 
 

*If the outcome is objective (eg., death) then blinding 

is less critical.  

 









*隨機分派後的兩組病患基本特質是否相似 ﹖ 
 

*找 Result 的第一段描述，和Table 1: Characteristics 

of Patients。Table 1如果沒秀P值，一般來說都是沒
有達到統計學上的差異，可以用 Result的第一段描述
來確認。 

*Consider about confounding factors that might 

affect the outcome, such as age, sex, social class … 







*除了研究介入的差別，兩組間其他的治療是否相等？ 
 

*看 Methods 中的 treatment 或 study procedures 部
分的描述，看是否有提到允許其他治療或追加治療，
並思考會不會影響結果。也要看 Results 中實地執行
的情況。 

*若 blinding 做得好，基本上應該不會有治療不平等的
問題。 

 

 











*治療效果有多大？ 
 

*What outcomes were measured ? 

*What results were found for each outcome ? 

*Is it statistically significant ?  P value ? 

*Calculate the number needed to treat (NNT).  

 



*Number needed to treat(NNT) 

*For clinical trial:  NNT = 1/ARR 

*NNT --- 小數點無條件進位。 

(1/0.068=14.7) 



*Number needed to treat(NNT) or 

Number needed to harm(NNH) 

*統計上無意義的話就不必算 NNT或 NNH了。 

*For clinical trial:   

       NNT = 1/ARR (absolute risk reduction) 

       NNH = 1/ARI (absolute risk increase)  

*NNT —— 小數點無條件進位 

*NNH —— 小數點無條件捨棄 



*3-30 Rule of EBM 

*Absolute risk reduction (ARR) > 3% (not < 2%) 

*Relative risk reduction (RRR) > 30% (not < 20%) 

*NNT < 30  (not > 50) 
 

Enrique Sánchez-Delgado 

Medical Director  Clínica Sánchez-Incer; Bosques Altamira 

Managua, Nicaragua 

Making evidence easy for general practitioners: Rule 3-30 

Letter to editor for: Why general practitioners do not implement evidence:  

qualitative study. BMJ  2001;323:1100 





*Relative risk reduction (RRR) =  ? 

*Absolute risk reduction (ARR) =  ?  

*Number needed to treat (NNT) =  ? 

 



*Relative risk reduction (RRR) =  (12.1 ‒ 10.5) /12.1 

                                           = 1.6/12.1 = 0.132 = 13.2% 
 

*Absolute risk reduction (ARR) =  12.1 ‒ 10.5 = 1.6% 
 

*Number needed to treat (NNT) =  1/ARR = 1/0.016 

                                                 =  62.5 = 63 

 



*Relative risk reduction (RRR) =  (8.3 ‒ 5.7) /8.3 

                                           = 2.6/8.3 = 0.313 = 31.3% 
 

*Absolute risk reduction (ARR) =  8.3 ‒ 5.7 = 2.6% 
 

*Number needed to treat (NNT) =  1/ARR = 1/0.026 

                                                 =  38.5 = 39 

 





*治療效果的估計值有多精確？ 

*What is the confidence interval ? 

*Narrow confidence interval is more precise.  

 



*Accuracy(準確) and Precision(精確) 

*Accuracy is how close a measured value is to the actual (true) 

value. 

*Precision is how close the measured values are to each other. 

 



*Accuracy(準確) and Precision(精確) 

*假設明天下午的氣溫是 28°C 

*我今天的氣象預測: 氣溫的 95% confidence interval 

是: 

1) 10°C ‒ 24°C ---  low accuracy, low precision 

2) 20°C ‒ 24°C ---  low accuracy, high precision 

3) 10°C ‒ 38°C ---  high accuracy, low precision 

4) 26°C ‒ 30°C ---  high accuracy, high precision 

 



*Confidence Interval 

*一般用 95% confidence interval, P < 0.05。允許5%

的犯錯機會。結果若在 confidence interval 內，表
示有統計學上的意義。 
 

*Narrow confidence interval --- high precision 
 

*95% confidence interval is more narrow than 99% 

confidence interval --- so the precision increase, 

but the accuracy decrease 
 

*Confidence interval becomes narrower when the 

sample size increases.  

 



*Confidence Interval 

*怎樣的 confidence interval 才算 narrow ?  ---- 沒有標準
答案，視情況而定。 
 

*Risk ratio，odds ratio，hazard ratio等的 95% 

confidence interval 上下值差異能小於 0.25 一般來說會
認為精確度很好，如果大於 0.5 可能就不是那麼精確，但
要隨著研究題目、臨床問題而定，沒有一定的答案。 
 

*研究結果若沒達到統計學上的差異，也可以看信賴區間是
否夠窄，來看這樣"沒有差異"的結果，是否精確，有沒有
可能只差一點、再增加一些樣本數而變成有顯著性的差異，
還是已經是一個既定的結果。 

 



*Hazard ratio: 0.86 (0.74 ‒ 0.99)，用 Empagliflozin 可減
少14% primary outcome的風險。 
 

*0.99 – 0.74 = 0.25  ---- 算 narrow confidence interval 
 

*但要知道，減少的風險95%會落成 0.74 ‒ 0.99 間，意即最
好可減少26% primary outcome的風險，最差則只減少1% 

primary outcome的風險。 

 



*Hazard ratio: 0.68 (0.57 ‒ 0.82)，用 Empagliflozin 可減
少32% death from any cause 的風險。 
 

*0.82 – 0.57 = 0.25  ---- 算 narrow confidence interval 
 

*減少的風險95%會落成 0.57 ‒ 0.82 間，意即最好可減少
43% death from any cause 的風險，最差也還能減少18% 

death from any cause 的風險。 



*實證醫學的五個步驟  

1) Ask an answerable question﹝問可以回答的問題﹞ 

2) Search for the best evidences﹝搜尋最佳證據﹞ 

3) Critically appraise those evidences﹝嚴格的文獻評讀﹞ 

4) Apply to the patient﹝臨床應用﹞ 

5) Evaluate our performance﹝評估與稽核以上步驟﹞ 



*此研究是否可應用到你的病患？ 
 

  我們的病患與研究中的病患是否不同？ 

  我們是否有這種藥或設備 ﹖ 

  治療的方法是否與我們的病患相似？ 



*我們的病患與研究中的病患是否不同 ?  

*我們的病患是否符合納入條件(including criteria)，
而沒有在排除條件(excluding criteria) 之中？ 

 

*從研究樣本的人口學和臨床特徵的描述中，比較我
們的病人和文獻中的病人是否相似。 

 

*性別、年齡、體重、種族、疾病特徵  

 





*我們是否有這種藥或設備? 

*進口 ﹖ 

*國內生產 ﹖ 

*品質如何 ﹖ 

 



*治療的方法是否與我們的病患相似? 

*從方法(Method)中去看研究所用的藥物，在
品項、劑量、與給藥間隔是否與我們的病患
相似。 





*是否所有重要的臨床結果都被考量到？  
 

*這題是要我們去思考，這篇研究是否有呈現我們最想
要看的臨床重要結果 ? 

*會不會血糖下降，死亡率反而上升 ?  會不會死亡率
下降，但中風臥床的比率反而上升 ? 





*這些好處隨之而來的傷害和花費是否值得？ 
 

  What is the adverse effect ? 

  What is the cost ? 

 





*Adverse effect of genital infection in female: 
 

  Absolute risk increase (ARI): 10.0% - 2.6% = 7.4% 

  Number needed to harm (NNT) = 1/ARI = 1/0.074 

                                                 = 13.5 = 13  

 



*Benefit and Harm 

*For diabetic adult patient (mean age of 63) with 

high risk of CV disease, treat with Empagliflozin 

for 3 years period: 

 

*Number needed to treat (NNT) for death for any 

cause :  39 

*Number needed to harm (NNH) for female for 

genital infection:   13 

 



*成本效益 

*費用 
 

*這藥健保有給付嗎 ? 
 

*病人經濟狀況是否負擔得起 ? 
 

*COPE --- Cost Of Preventing an Event 
 

*COPE = NNT × Time × Cost 

 



*Cost Of Prevention an Event (COPE) 

*For diabetic adult patient (mean age of 63) with 

high risk of CV disease, treat with Empagliflozin 

for 3 years period: 
 

*Number needed to treat (NNT) for death for any 

cause :  39 
 

*Empagliflozin 25mg 健保價一顆30.7元 
 

*COPE = NNT × Time × Cost 
 

*COPE = 39 x 3 x 365 x 30.7 = 1,311,043元 

 

 



*Thank You 


